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QUESTION 1

You issue the telnet 10.10.10.1 source 192.168.100.1 command.
Which two statements are correct in this scenario? (Choose two.)

A. The telnet session will have a source address of 192.168.100.1

B. The telnet session will have a destination address of 10.10.10.1

C. The telnet session will have a destination address of 192.168.100.1
D. The telnet session will have a source address of 10.10.10.1

Correct Answer: AB

QUESTION 2

What is the protocol data unit (PDU) of the Data Link Layer?
A. segment

B. byte

C. bit

D. frame

Correct Answer: D

QUESTION 3

Which two methods keep a Junos device operational if the primary storage device fails? (Choose two.)
A. Create a recovery snapshot.

B. Enable the ephemeral database.

C. Enable J-Web for device management.

D. Create a rescue configuration.

Correct Answer: AD

QUESTION 4
Which two statements apply to the Routing Engine functions? (Choose two.)

A. It does not process routing updates.
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B. It responds to ping and traceroute commands.
C. It maintains the routing tables.
D. It processes the transit traffic.

Correct Answer: BC

QUESTION 5

Which two statements are correct about firewall filters? (Choose two.)

A. "Discard" is the default action of packets that are not explicitly allowed.
B. There can be only one firewall filter.

C. There can be multiple firewall filters.

D. "Accept" is the default action of packets that are not explicitly allowed.

Correct Answer: AC
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